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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : (any seven)
1x7=7

wed 2HEIRE ek &)l ¢ (Rieme sreny)

(i) Write an example of a solution of liquid
in gas.

(oElT Aees waw wayfafe T B GO Tuige faa |
(ii) What is reduced phase rule ?
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(i) Whatis equivalent conductivity ? vil) Which of the Toflowing prstelns
EENE ﬂiiajf\{‘\\yﬁw transports oxygen in our body ?
ol ¢
' 1 &4 (IH] AT NS WG AAAZ A 7
(iv) Expressa Daniell cell. |
R (@ 51 & (a) Keratin
(b) Nucleoprotein

(v) Arrange the following in order of |
increasing acidity : (c) Haemoglobin
(d) Insulin

wFe feR TS A 5
CICH,COOH, CL,CHCOOH, Cl,CCOOH (ix) Glycine when heated alone gives
(vi) Aniline reacts with bromine water to give 235 TR oK 3w
<& #R Fore iR R IR (a) methylamine
(a) o-nitroaniline (b) 2-amino ethanol
(b) m—mtroan-lll.me (c) diketopiperazine
(c) p-nitroaniliné (d) 7w .
retterion
d 2, 4-dinitroaniline
x) C . .
(vij) Which of the following diazonium salts (x) Carbohydrates are characterised by the
\ presence of
is most stable ? o
ot T e [ (TGN ToifEeR o3
wFR (@1 (e WK (ER 2 ) P FEOT AR FRYJLA0S
“ e Y Ay
fa) Benzene diazonium fluoroborate
] ] ' (@) OH group
(b) Benzene diazonium chloride b Sc
. L . =0
(c) Aliphatic diazonium salt - group
c) A i
(d) None of the above (c) Symmetric carbon
(d) All of the above
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2. Answer the following questions : (any four)
2)(4::8
e e e T ¢ (R BIROY)
(i) Distinguish between ideal solution and
~on-ideal solution.
x| 72 e S wEE e Tl |
(i) State and explain phase rule.
vz aetol K CIRT |

(i) The conductivity of 0.2M solution of KCl
at 298K is 0.0248 Scom

molar conductivity.

-1, Calculate its

298K Twere KCI, 0.2M 7@ o #ifaifzel
0.0248 S cm-} wrm TaR (R 2AfRaifzel 7o

=2 |

('v) Distinguish between reversible cell and
irreversible cell.

L] (5 WE weye L] (arag Al @1
fﬁ?iplain, why carboxylic acids have

higher boiling point than corresponding
alcohols,

(v)
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(vi) Explain, aniline is a
cthyl amine.

weaker base than

e BB RS (7w AR | A 7

(vii) How are amino acids related to protein ?

otsTeT

afiwr <fp o ara = #sre AoAEe
(viii) Justify the formation of osazone from
glucose and fructose.

2TG G TS

LAl

_7/ﬁ/i \44»‘10\‘;‘3—'?‘( ’I?Y

Answecr the following questions : (any three)

5%x3=15
TR LA Tae FE

i (a)

2 (Rr=erzen fofas)
What is CST ?

CST wits &2

(b)

State and explain Raoult’s law.

T*5<¢ 3B foia] Sig 4Ry 4

(¢) Define with

azeotropic mixture.

cxample about

o
L&D

. Conry
vian Swae Tuigga @Y

1+2v2‘5
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(i)

fiii)

(a) Define

(b)

(a)

phase, components and
degree of freedom.

e, Teliod SR T A A [ iy
forl |

Find the number of components
and number of phases in the
following equilibria and evaluate
the degree of freedom :

e REFOOR *[1 AR AL, THARN
<] R T Wil e = 8

N,(g)+ 0, (g) = 2NO(9)
3+2=5

The resistance of a 0.1 M solution
of an electrolyte is 60Q at 300K. The
dimensions of each electrode in the
cell are 0.85cm x1.4cm and the
distance between them is 1cm.
Calculate the following — cell
constant, conductivity and molar
conductivity of the solution.

300K © 0.1 M fapefarsay wa@ 4o @9
60Q. (F1ra fagye gig goiAd A
0.85cm x 1.4cm @i Fideq q@di 1om-
(=R Afaifzel fiefa a4 |
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(b)

(iv) (a)
(b)
v (a
(b)

A

Conductivity decreases but molar
conductivity of strong electrolytes
increases on dilution. Explain.

Agers, S\ g  oE Afaaifzet wrs
g cerE AAfeaifzst ars | gt w4
3+2=5

How can you determine pH using
hydrogen electrode ?
FBUCEA 2EE W A9 S pH T
(LD T2
What types of information may get
by electrochemical series ?
Rgje I (W) O™ 7/l (& @@
B2 AR AR 2

3+2=5

Write Perkin’s reaction with
example.

TRRACENR Iee ARfe [ &)

Write the products of the following
reaction :

i oo ey e = e

H,SO:
@: - CH3COOCOCH; ——=7
NO

2

3+2=5
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(v) (a)
(b)
i) (a)
(b)
(wiii) (a)

Arrange the following in decreasing

order of basicity :

FRE A I FNS A 8
N,N-dimethyl aniline, aniline,
ammonia, ethylamine, p-nitroaniline

Write with an example of
Sandmeyer reaction.
AR TS (RIS et e |

2+3=5

What kind of bonding is responsible
for tertiary structure of protein ?

SRR aftae siowe & 2ie] IF TS

Write briefly on general properties

of proteins.

aiffer AYRe AERTE o7l |
2+3=5
Write the main classes of

carbohydrates with example.

TAENR (TS I Z0R0R 1 (4
fova |
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4.

(b)

Classify the following into reducing
and non-reducing sugars :

woTw fra (SIGE qTEs RIS 515717135 "‘WIPJ
f2p1eel (4 Rrsrem <= ¢

Fructose, maltose, lactose, sucrose,
starch, glucose, cellulose.

3+2=5

Answer the following questions : (any three)

10x3=30

OIS R TR A ¢ (Rigerear fefan)

()

(@)

(b)

3 (Sem-4/CBCS| CHE HG/RC/G O

Explain liquid composition curve
and vapour composition curve from
lever rule.

(TSR TS SR o & (74 T (5137
G (- AICR A 4= |

State and
distribution

explain Nernst
Write the

conditions for applicability of the
law.

law.

e frewa iy e s ey a0 92
fifem eris vz v



(a) Write short note on :

us-Clapeyron equation

Clausi
or
Phase diagram of one component
system
SO i e
e @R TR

(b)

It
oz Toee] T@ wTE AREDE

phase diagram of water

Describe

SZ\’_Stem. ‘

Water system I &R S YI |
5+5=10

Derive the conductivity at infinite
dilution by applying Kohlrausch
law.

=ZTHA A0 RS SAA TLOTS
sifeaizel T &

Write short note on :

SesE Tl

Transport number and

conductometric titration

(iv) (a) Write shortly :

(b)

(c)

(d)

potas foe ¢

Standard hydrogen electrode and

redox titration.

Derive Nernst equation for

-measuring EMF of the cell.

o1 e (FRE EMF fadfaa ama st
AT Sferea |

Write the half cell reactions for
electrochemical cell involving the

following cell reaction -

Se1s ) RfErasre s fge ammte
(PRIOR Sac kT [ Fer s
Hy(g)~Cu®™ = Cu(s)-2H"

Write the applications of electrolysis

in industrial purpose.

T (s Ry Rz wrieE T
IEAGEE

44+2+2+2=10

5+5=10
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< \ ¥
31 Cin the following
. v A Rand Cint
1denufy A
reaction °

sz SETTOR NN A, BERC oo

3 NH - NH) Ne
~- O Heat EELLLY Sihahbe
Sl S = ,B—

(1 An
NAma Ll

Prepare the following :

==z FORR 2ET ¥ 2

scetophenone from acetic acid and
=rhv] acetate from ethyl alcohol
Explain, why acetyl chloride gives
nucleophilic substitution rea-cuons
more easily than ethyl chloride.

SN Fem weelie R A, AL 0
3+4+3=10
. . 3 S
faj What happens when aniline 1d
treated with benzoyl chloride an
NaOH?
TR T9TT (ZeTeE FAR0 W% EEl
~'<;?<£' % ‘.2_"2: ?‘:{V“.«( Z?Qﬁ: =
CECS CHE HO/RC/IG 12

(b)

(c)

(d)

(vii) (a)

(b)

3 Sem-4/CBes) chp HG/RC/G 13

P A

Complete the reaction -

&4 faf @) syompef )

CoHsNH, " »Cy HLOH

Write the Hinsberg test for
distinguish 1° amine, 2° amine and
3% amine.

1° G, 2° Q1% S 3° @uiZera ofjafas
IR feretafa #@vm fapay |

Give the mechanism of coupling of
diazonium salt with phenol.

SIS RN & S (wpasia < w4if
faferar femfafy faver |

2+2+4+2=10
Synthesize the following :

OeTe I Aersre st

Ethyl chloride to aniline and acetic
acid to glycine

What do you mean by zwitterionic
property of an amino acid ?

S afowa gEGRfRe e 3 &
el 7
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(v} {a)

(b)

Justify the structural relationship
of amino acids, peptides and
proteins.

e o, coioiE i 2GR o1 i
Wwrite the principle that can be
applied for the separation of a

mixture of amino acid.

S o M OB ARSI B
wrel (Rl Airerot Bl |
4+2+2+2=10

Convert the following :
=T TERIR TATE TS 41 8

Fructose into glucose and

glucose into fructose

Explain the following :

I A ¢

Glucose does not react with
NaHSO,,

PEasc) NaHSO, % =19 fafeal aata |
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i

D-glucose and L-glucose give the

same dicarboxylic acid on

oxidation.

GeE Al D-glucose 3ii# L-glucose @
G w4 widfafars afer oms ara

Sucrose does not show

mutarotation.
28 0% [ Srssa (4 (ryara

4+6=10
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